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Fill in the blanks (Questions 10 - 14):
10 Javed truly wanted o serve in the posidon no one else
wanted; his enthusiasm was
A counterfeit B. negated  C.convoluted D, since
11. As the day wore on with lietle progress in evidence, Jeany's
energy began to "
A dissemble B. wane 3 D. mitigate
12. Afier a month of survival training in the wilderness, the

. Aducid B putrefied  Coalert D. odious
13, Being able to afford this luxury car will getting 2
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average was B4, If the score on the make-up exam was 92, f/
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A fafrician wies the model above to estimate the A
height 5 of 2 boy, in inches, in terms of the boy's age o, in
years, Between the ages of 2 and 5. Based on the meodel,

what is the estimated increase, in inches, of & boy's beghe #}:
cach year?
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24, A rtelevision with . poce of $300 is to be purchased with

an initial payment of 360 and weekly payments of §
Which of the following equations can be used 1o find the
number of weekly payments, », required to complete the
purchase, assuming there are no taxes or fees? (a7
A 300 = 30w — 60 B. 300 = 30w

C.300 = 30w + 60 B. 300 = 60w — 30

General Knowledge (Mads ~ 6)
25, Which country has the highest enetgy consumption pes
capita in the world?
A USA B. Iceland C. Saudi Anabia D. UK
26, Which of the following is not considered to be a source of
renewable energy?
A Hydropower B, Wind €. Natunal Gas D, Solar
21, Who is the author of the book Principia Mathematica?

A lssac Newton B. Albert Binstein
+ Galileo D. Copernicus
28, Who has won the US Open 2020 men's singles title?
A. Rafel Nadal B. Dominic Thiem
C. Novak Djokovic D. Roger Federer

29. Who won the Nobel Prize 2020 in literature?

A. Louise Gliick B. Peter Handke
C. Olga Tokarczuk D. Kazuo Ishiguro
30. What is the name of the currency of Lawia?
Alia  B.Euro C. Dollar D. Pound
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English (Marks- 9)
Fill in the blanks (Questions 10-14):

so. Javed truly wanted to serve in the position no one else wanted; his enthusiasm was-

@, counterfeit ¥, negated . convoluted 9, sincere B v
35. As the day wore on with little progress in evidence, Jenny's energy began to-

%, dissemble + wane *f. proliferate 9, mitigate € ¥
33, After a month of survival training in the wilderness, the scouts became quite-

#. lucid <. putrefied 1. alert . odious B, 5
3o, Being able to afford this luxury car will........ getting a better paying job.

&, maximize %. recombinant 1. necessitate 9. reiterate B
38. He will be arriving quite late, so by the time he comes, the play..........7

. would have begun 4. will begun www.prebd.com

s, will have begun 9. would begun B9
s¢. The antonym of COERCIVE is:

#, Progressive ¥ Opinionated  *I. Promoting 9. Gentle A

b, Synonym of ALTRUISTIC.
. Benevolent ¥ Progressive  *1. Inhumane 9. Selfish B.®
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Select the correct spelling of the word-

. Acquainttance . Acquaintance . Acqquaintance ¥, Accquaintance €. o
Choose the correct pair of words from the following: SYMPHONY: COMPOSER : :
. Leonardo : music . Fresco : painter

“I. Colours : pallet 9. Art : appreciation AL

Mathematics (Marks- 6)
A swimming pool is initially filled to a depth of 96 inches. After 2 weeks, the depth has
decreased to 921/2 inches. Assuming that the depth decreased at a constant rate, after
how many days would the water depth have reached 933/4 inches?
3 %9 "7 9.6 A
In the coordinate plane, line m passes through the origin and has a slope of of 3. If points
(6, ¥) and (x, 12) are on line m, theny-x=7
T 14 ¥ 18 . 22 . 26 C.¥

A delivery cart went from Candle ford to Lark Rise and back at an average speed of %

miles per hour. If the distance from Candle ford to Lark Rise is 1 mile, and the trip back
took half as much time as the trip there, what was the average speed of the delivery cart
on the way to Lark Rise?

1 B 4
?-',3 -4 ) L

| 12

8.

The average of several exam scores is 80. One make-up exam was given. Included with
the other scores, the new average was 84. If the score on the make-up exam was 92, how
many total exams were given? www.prebd.com

w3 v.2 i1, 4 9.5 B
h=J3a+28.6

A pediatrician uses the model above to estimate the height b of a boy, in inches, in terms
of the boy’s age a, in vears, between the ages of 2 and 5. Based on the model, what is the
estimated i ncrease, in inches, of a boy's height each year?

@ 7.5 % 10 .3 w5 . of

A television with a price of $300 is to be purchased with an initial payment of $60 and
weekly payments of $30. Which of the following equations can be used to find the number
of weekly Ipayments, w, required to complete the purchase, assuming there are no taxes
or fees?

. 300 = 30w - 60 <. 300 = 30w

. 300 = 30w + 60 9. 300 = 60w - 30 B4

General Knowledge (Marks- 6)
Which country has the highest energy consumption per capita in the world?
=. USA . Iceland . Saudi Arabla % UK A
Which of the following is not considered to be a source of renewable energy?
@. Hydropower % Wind i. Natural Gas ¥. Solar B.of
BT (Wi e fermmrafer)
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24. Who is the author of the book Principia Mathematica?

¥. Issac Newton . Albert Einstein 5. Galileo 9. Copernicus T=
#B1: 09 (WS W7 “ifaerar- wrews)
1 R Who has won the US Open 2020 men’s singles title?
%. Rafel Nadal 4. Dominic Thiem
. Novak Djokovic 9. Roger Federer C. 4

#B1: 09 (Weqe W “ffaamar- Trews)
3». Who won the Nobel Prize 2020 in literature?
#. Louise Gluck <. Peter Handke <. Olga Tokarczuk . Kazuo Ishiguro €. %
oBT: 3 (Wags T offaar- arews)
vo. What is the name of the currency of Latvia?
@, Lira 4. Euro st. Dollar 9. Pound A

oB1: 295 (WS WreEfes fagurafa)
(raf42 e ferfde)
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